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1 ko[ | ChTRELISEPHEEZIRS, (1HX4)
(1) 500HDIAZ +500H tEFTZLIZTUE, SOOHDEHIZ | —300 | H

LERFTZENTED,

@) BUEND 3HHE + 34 LRTZLICTUE, RN 5 4B
— 54 LRTILNTED,

(3) AR OLHAZED HH, HEADOFRETIIX, AR LIER~8 0 0mEB#EiT 5 Z &1

TE D,

+800 |m LRE, AL A~200mBETHZE1E —200m &¢XT &N

4) bARYOBEINEEOEI LY S5keFEV 2% +5ke EETZLicTnT, KEEOES

X0 9kef®\WZ &0,

-9

ke LRTZLENTED,

2 WOBIZHONWT, HEDORWIZEzRE, (1 HX5)

-7, 0, —O. 2, QL, 0.01, —2
20

(1) HAREEEZ 72X,
(2) HHENR D REWEEEZ RS, —7
(3) MEXHMENE L W2 2D EEZ R E W, 2 & —2
4) OXV/IhEWVWEETITEZ IV, -7, —0.1, —2
(5) L2 B/NS WVIEICIE 72 S0, -7, =2, —0.1, 0, 0.01, 53, 2
3 —3.8 kv ka< 2.4 X0/ hSnEHIIETTWHOHINELI,  (18)
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1 ko [ | ChTREIHEELIFRENPE RS, (18X 2)

() (=4)+(=38)=] — [((4+3)=| —7 (& & > TIESR)

2 (+5)+(=7)=—( 7 |=5)=| —2 (&3 - CTIEfE)

2 WOFHEZLREW, (145X6)

(1) (—4)+(+15)=| 11 2 (=7)+(=8)=| —15
3) (=8)—(=5)=| —3 4) (+4)—(—=3)= 7
(5) —3+6—2= 1 6) 3+(=5)—(—4)—7=| —5

3 A, B. C3ANDODENETNLOHFENLNSH150mZO0L &, Alx3cm, Biz—3cm, CiZ6cmé&
2%, WOBWWZEZ2EV, (1 HX2)

(1) ADFEIZIBOEE XV fenE\V 7, 6 cm

(2) BANDHEDVEY&ERDX N, 152 |em
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ko [ | ichTEEIBEEREEENE RS, (14X2)
() (+5)X(=4)=| — |(bX4)=| —20 (&E & - T IEMR)
(2) (=3)X(=2)=| + |(3xX2)= (&E & - T IEfR)
WOFEZ LIV, (18X6)
(1) (=7)Xx5=1] —35 (2) (=3)X(—4)= 12
(3) (—3)2= 9 (4) 15+(—5)= -3
(5) (—42)+(—3)= 14 6) —62+9= — 4
WO AR ZRKE L7, (1 /AX2)
(1)4 2 (2)180

4 2=2X3X7 180=22xXx32%X5
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1 ®koOXE, XFROFLHICLEN>TEHLAIY, (1 4HX3)
(1) b x3= 3b (2)a X2X b x a = 2a‘b
e a—>5
3) (@a—5)+3= B
2 a=20rtx, WORDEERDLIV, (1 /8X2)
(1) —3a +4= -2 (2) a?= 4
3 a=—30rx, OXDEEZRKDREIV, (1HX2)
(1) —2a +1= 7 (2) —4a%2 =| —36
4 WO¥ELZ, XFEfEo-AATERLARIVY, (1HX3)
() 1ftaMlo/—FE25ME>T, 1000 HEXL-7zLETDEDV,
1000—5a M
2) X HD 7 %,
7
7L >
100x L M
(3) Ykm DED Y 4L DIz, SKEMMh-oT EDHES,
e % kn
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1 WROFHEZLREW, (18X9)
(1) 6x +2x = 8X 2) 7x —8x = —X
(3) 3a —5a +6a = 4a (4) —x —3—2x +5= —3x +2
(5) 3x X(—4)= —12x
(6) 1
X—:
6) 15a 3 5a
(7) (10x —15)+5= 2Xx — 3
(8) 2(3x +1)+(4x +3)= 10x +5
(9) 3(4x +2)—5(3x +1)= —3x +1

2 JEANa m BEBNh anTHDEMBOMME, LFRTRLAZS N, (14)




